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Total Marks : 100 (2x50)

Answer all questions

This paper consists of 16 pages. Each Multiple Choice Question (MCQ) .is
provided with four options (A), (B), (C) and (D). ldentify the.correct option and

darken/fill the corresponding circle (A)/(B)/(C)/(D) with Blue/Black Ballpoint Pen on the OMR
Answer Sheet. '

For each question, 2 marks will be awarded for cofrect answer.
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1. Division of cork cambium gives rise to

J&) Phellem and phelloderm (B) Phelloderm and idioblast

(C) Phellem and xylem (D) Xylem and phloém
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2 The adhesion between stamens and carpels is called
(B) episepalous

Py gynandrous

(A) epipetalous
(C) polyadelphous
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3. Maltose, a disaccharide is composed of

JM/ glucose + glucose (B) glucose + lactose
(D) lactose + fructose

(C) glucose + fructose
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(A)Y HCI (B) Dbile salt

(C) Cu™ (D) enterokinase
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6. The term 'ribozyme’' was introduced by

(A) Alexander Fleming (B) Kelly Kruger
(C) David Phillips (D7 Joseph Priestiey
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7. In prokaryotic cells oxidative phosphorylation takes place in the
(A) cytosol (B) mitochondrial matrix

(C) inner mitochondrial membrane AP plasma membrane
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8. How many substrate-level phosphorylation {%d‘ton takes place in Krebs' cycle?

\(Qf)/One - (B) Two

(D) Four




9. The accessory pigments phycobilins are present abundantly in

(A) diatoms and red algae
(B) red algae and cyanobacteria
(C) green algae and diatoms

(D) Euglena and diatoms
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10. In C, plants the initial CO, acceptor is

(A) 3-phosphoglycerate

12{ ribulose-1, S5-bisphosphate

11. Kranz anatomy is seen In

(A) maize and pineapple

JCY sugarcane and maize
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(B) glyceraldehyde-3-phosphate

(D) sedoheptulose-7-phosphate
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(B) cotton and oat

(D) orchid and pineapple
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14. Which of the following is not correct for bacterial photosynthesis?

(A) Only PSI is present (B) H,S acts as the electron donor

AC) Both PSI and PSI| are present (D) Oxygen is not released

2| e @l i AP -9 v 9 T30

(#) ST PSI TR B) H,S 3G wrol IR e I
‘_@PSIGPSIIWW (D) wfise faefs =7 o

13.  The hormone responsible for breaking the dormancy of seed is

(A) indole acetic acid '(’5)/ gibberellins

(C) abscisic acid (D) cytokinin
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14. The amino acid Is directly used as the precursor in the formation of indole acetic acid.

(A) glutamic acid (B) alanine

(C) tyrosin iD’I’fftrvplf:-phan
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16. The process of gluconeogenesis takes place only in

A7 liver and kidney (8) gall bladder and stomach

(C) gall bladder and pancreas (D) stomach and oesophagus
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16. Which enzyme of saliva is antibacterial in nature?

(A) Ptyalin (B) Phosphatase

\(Cﬁ.ysozyme (D) Maltase
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17. Kwashiorkor disease IS caused due to

(D) TAO®

(A) vitamin C deficiency (B) excess of fat

(D) excess of protein

@}/deﬂclency of protein
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18. IS a natural anticoagulant compound.

(A) Heparin (B) Sodium citrate
(C) Potassium citrate (D) Sodium fluoride
S| va 93 AFFET IFSEART e |
V@ i (B) GG IS
(C) *ifmm A3 (D) CIRAM TS
19. Atherosclerosis is caused by the increase of in the blood.
(A) protein (B) glucose
ﬁ)/ cholesterol (D) alcohol
oFT SINRIGTFRBA @R IRT T T @ T
(A) CHIib= - - (B) Y&

ﬂmﬁmﬁ (D) A

20. Podocytes are specialized cells found in

(Aa/ ;.risceral layer of Bowman's capsule (B) parietal layer of Bowman's capsule

(C) glomerulus (D) Henle's loop
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24.  Which of the following Is an unusual constituent of urine?

(A) Urea (B) Ammonia

AC) Ketone body
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22. Which of the following is not a male secondary sex organ?
(A) Epididymis (8) Cowper's gland

€5 Bartholin's gland (D) Vas deferens

(A) spermeation (B) spermatocytogenesis
‘_(/CJspermw (D) spermatogenesis
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24. The main male sex hormone testosterone is secreted Dy
(A) Sertoli cells (B) stroma
(C) spermatogenic cells (D) interstitial cells of Leydig
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25. Painful menstruation IS known as

(A) oligomenorrhea (B) menorrhagia
(D) dysmenorrhea
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26. ‘Scuttellum’ is the of monocotyledonous piant. -

(A) embryo axis BJ cotyledon
(C) endosperm (D) coleoptyle
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27. The process of converting nitrogenous compounds 1o ammonia is called

(A) nitrification &) ammonification

(C) denitrification (D) nitrate reduction
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28. Which of the following statements is wrong for AIDS?

(A) It is a blood-borne disease
(B) It is transmitted chiefly by sexual éontact

(C) It is caused by HIV

wf Its causal agent belongs to rotavirus group
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29. The chromosome theory of heredity was proposed by
(A) Hardy and Weinberg i) Sutton and Boverl
(C) Morgan and Muller (D) Watson and Crick
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30. In meiosis two homologous chromosomes form bivaients by

(A) synaptonemal compiex
(B) Golgi complex

(C) complex medium

(D) initiation complex

31. When more than one phenotypic character is controlled by a single gene, it is called

(A) epistasis (B) co-dominance

(C) duplication (DY pleiotropism
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33.
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All antibodies are commonly known as

(A) albumin (B) o -globulin

(C) -globulin %D)/ immunoglobulin
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Antibody that is capable of crossing the placenta is
(A) IgM “B) IgG
(C) IgE (D) IgA
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(C) IgE (D) IgA
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(A) IgM

Find the incorrect match of the disease and their causative agent.

(A) Typhoid — Salmonella typhi https://www.tripuraboard.com

(B) Pneumonia — Streptococcus pneumoniae

46)/ Syphilis — Bordetella partusis

(D) Gonorrhea — Neisseria gonomrhoeae
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(A) OIRTES — Salmonella typhi

(B) oM™ — Streptococcus pneumoniae

W — Bordetella partusis

(D) sIAIfaa — Neisseria gonorrhoeae



35. Acid precipitation contains higher amounts of
(A) hydrochloric acid and nitric acid
_(BY sulfuric acid and nitric acid

(C) sulfuric acid and acetic acid

(D) hydrochloric acid and oxalic acid
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38. "Itai Itai" disease of human being is caused by
(A) iron Ve (B) mercury
(D) nickel
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37. In the ecosystem of forest the producers are

(A) bacteria (B) fungi
-(C)/ all forms of green plant (D) zooplankton
(B) =D




38.
Example of a natural organic insecticide is

(A) lea
) lead arsenate _,5)/ nicotin sulfate

(C) sodium fluoride (D) malathion
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39. Which one of the following rRNAs is not found in the cytosolic ribosomes of eukaryotes?
(A) 5S (B) 58S

(C) 28S NDY 16S
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40. Irregularly arranged vascular bundies within the ground tissue are called

(B) radial stele

(A) actinostele

46{ atactostele (D) plectostele




41. Which of the following is not correctly paired?

(A) Mitochondria — Cristae By Lysosome — Microtubule

(C) Mitochondria — Cellular respiration (D) Ribosome — Protein synthesis
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42. Which of the following is not an example of compound lipid?
(A) Phospholipids (B) Glycolipids

u(CJ)" Waxes (D) Gangliosides
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43. In the mitochondrial matrix, pyruvate is first converted to acetyle CoA by a process called

(A) substrate level phosphorylation (B) dehydrogenation

2} oxidative decarboxylation (D) condensation
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The part of the stomach attached to the oesophagus is called

(A) pylorus JBY cardiac stomach

(C) fundus (D) body

Identify the correct formula for the tetrasomics

(A) 2n-2 JABY 2n+2

(©) 2n-1-1 () 2n+1+1

(A) 2n-2 \@ 2n +2

C) 2n-1-1 (P 2n+1+1

Male larva of silkworm possesses

(A) Ishiwata’s gland +B) Herold's gland

(C) Green gland (D) Pineal gland
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membrane?

(A) Microsome (B) Oxysome

{C) Sub-unit of Parson (D) Quantasome
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48. The Fluid Mosaic Model of cell membrane was proposed by
(A) Danielli and Harvey (B) Danielli and Davason
Jej Singer and Nicolson (D) Davason and Nicolson
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49. Cup-shaped chloroplast is the characteristic of
Jﬂr)/ Chlamydomonas (B) Spirogyra
(C) Ulothrix (D) Chlorella
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(C) Ulothrix (D) Chlorella

50. Which of the following statements is not correct for peroxisome?
(A) It is bounded by a single membrane.
(B) The term was proposed by de Duve.
\LQ)/ It contains DNA and ribosomes.
D) It contains several oxidases.
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47. Which of the following structures is found on’ the inner surface of the Inne |



